Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

T E C H N O1L O G Y

Terms and conditions of use:

Berk Technology™ or any of its affiliates will not be held liable for any and all of the costs
involved with use, installation, removal, inconvenience, or any other such associated effects by
installing this product. The purpose of the use of these products is for off-road use and may
never be used on public streets or highways. These components are legal for sale in California
for racing vehicles only. Federal and state laws prohibit the removal, modification, or rendering
inoperable of any device or element of design affecting vehicle emissions or safety in a vehicle
used for public highways. Violation of such laws may subject the owner of the vehicle to a fine or
penalty. Installation of this part may void the warranty coverage, if any, on your vehicle. Vehicles
modified by the use of performance parts may no longer be lawfully used on public highways.

It is YOUR responsibility to ensure that you are in accordance with all the laws and regulations in
your state. Berk Technology™ does not in any way assume any responsibility or liability
associated with (but not limited to) the use or installation of this product. Berk Technology™ does
not in any way express or imply any liability for damage to property, vehicles, livestock, and
personal injury or death, that may be associated with the use of this product.

User of this product assumes all costs and risks associated with the use of these products.

USE AT YOUR OWN RISK.

Page 1 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

\
T E C H N O1L O G Y

Use this document as an installation guide only.
Professional installation is recommended.

High Flow Cat (HFC) or Test Pipe
Mitsubishi Lancer EVO X 08-13

HFC Pipe
Assembly

Test Pipe Assembly

Page 2 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Parts list for BT1904

Pipe assembly (HFC or Test pipe)
Qty 2 — Gaskets

Qty 4 — M10 Nuts

Qty 4 — M10 Bolts

Qty 1 — M8 Bolt

Qty 1 — Zip tie

Tools Needed:

10mm socket or wrench
12mm socket or wrench
14mm socket or wrench
17mm socket or wrench
19mm socket or wrench
Pry Bar

PB Blaster or WD40
Anti-Seize Paste

Technical Info:

Berk Test Pipe — 5.35 Ibs

Berk High Flow Cat — 6.6 Ibs

OEM Catalytic Converter — 16.15 Ibs

3” 304 stainless steel tubing & flanges

Metallic Catalytic Converter (Made in the USA)
200 Cells per square inch (CPSI)

Wideband Port thread size — standard M18x1.5

Page 3 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #1: Unclip and remove O2 sensor.

Page 4 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #2: Remove 19mm nuts on front of cat.

Page 5 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #4: Remove 12mm bolt on hanger.

Step #5: Using a pry bar, completely remove heat shield piece on OEM
downpipe. Twist back and forth to break tack welds and remove.

Page 6 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #6: Heatshield removed from OEM downpipe.

Step #7: Install Berk Test Pipe or High Flow Cat. Shown next to OEM cat for
comparison.

Page 7 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #8: Insert gasket in between OEM downpipe and Berk TP/HFC.

Page 8 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #10: Using supplied M8x35mm bolt, attach hanger to HFC. Make sure to
Enrsulate hanger from HFC w/ OEM washer.

OEM Washer

Page 9 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #11: Make sure HFC flange & gasket are centered properly before final
tightening. Improper alignment may cause a small exhaust leak and/or check
engine lights (CEL).

Step #12: Apply a very small amount of anit-seize on the O2 sensor threads.
Screw O2 sensor into mechancial CEL fix and tighten.
¥ i 4] ! .

Page 10 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #13: Remove (Qty 2) 10mm nuts on O2 sensor wire cover.

L
L ]

Page 11 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #14: Using provided zip tie, secure wire inside cover as shown. Cut off
excess length of zip tie.

i e

Page 12 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

Step #15: Reinstall wire cover. Make sure wires are not pinched when
reinstalling cover.

Step #16: Perform final nut and bolt tightening. Make sure that gaskets and
flanges are centered on each other correctly to ensure that leaks and/or CEL
lights do not occur.

Page 13 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

COMPLETED ASSEMBLY:

Page 14 of 15
www.BerkTechnology.com



Mitsubishi EVO X 08-13
BT1904/BT1904-HFC Test Pipe / High Flow Cat

OPTIONAL: Pre-cat Wideband O2 Sensor Installation.
-Remove plug with 19mm wrench and screw in wideband O2 sensor

-Route wiring along with factory FRONT O2 sensor wires.

Page 15 of 15
www.BerkTechnology.com



